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MODEL QUESTIONS

Directions (Q.No. 1-5): Read
each sentence to find out whether
there is any grammatical mistake/
error in it. The error, if any, will be
in one part of the sentence, mark the
number of that part with error as
your answer. If there is 'No error’,
mark (5) as your answer.

1. Religion and other approaches
(1)/ that stress on maintaining and
developing (2)/ the purity of the
human soul (3)/ are subjects that
do not merit seriously attention.
(4)/ No error (5)

2. The setting of moral standards
and codes of governance has to
be more procedure-oriented (1)/
with a focus on the way (2)/
humans conduct themselves (3)/
in their interactions with others.
(4)/ No error (5)

3. Maintaining a balance between
various constituents of the society
(1)/ and conflict prevention (2)/ are
essential to the maintenance of
social order (3)/ and a pre-requisite
for governance. (4)/ No error (5)

4. As the real world relevant to the
existence of human beings is in a
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state of perpetual flux, (1)/ attempt
to study the same in a systematic
manner (2)/ would be meaningful
(3)/ despite reality itself having
changed by then. (4)/ No error (5)
There is no notion of time-space-
invariant reality. (1)/ There can
be numerous realities (2)/ both
across time and across (3)/
human cultures and civilizations.
(4)/ No error (5)

Directions: (Q.No. 6 - 10): Which

of the phrases (1), (2), (3), and (4)
given below each sentence should
replace the phrase underlined in the
sentence to make it grammatically
correct? If there is no error mark (5)
No correction required as your
answer.

6.

He went out just now.

1) will go out 2) has been gone
3) has gone out

4) had left out

5) No correction required

There has been a remarkable
increases at the number of
women entrepreneurs in some
developed countries.

I) increasing number

2) increasing of number

3) increase at the number

4) increase in the number

5) No correction required

The  repeated  experiments
conducted 1n a simulated

environment reaps _beneficial
result.
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1) reap beneficial result

2) reaps beneficial results

3) reaped beneficial results

4) reaping beneficial result

5) No correction required

One of the sister is very famous

in the field of fine arts.

1) One of the sister was very
famous in the field of fine arts.

2) In the field of fine arts one of
the sister is very famous.

3) In the field of fine arts is very
famous one of the sister.

4) One of the sisters is very
famous in the field of fine arts.

5) No correction required

The Chief not only desired

loyalty from his men, but

demanded their courage.

1) The Chief not desired loyalty
from his men, but also
demanded their courage.

2) The Chief only desired loyalty
from his men, but demanded
their courage.
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3) The Chief not only desired
loyalty from his men, also
demanded their courage.

4) The Chief not only desired
loyalty from his men, but also
demanded their courage.

5) No correction required

Directions (Q.No. 11-15): Rear-

range the following six sentences
(A), (B), (C), (D), (E) and (F) in a
proper sequence to form a
meaningful paragraph and then
answer the questions given below.
A) GES 2017 will create an
environment that empowers
innovators, particularly women,
to take their ideas to the next
level.

Through two and a half days of ne-
tworking, mentoring, and worksh-
ops, GES empowers entrepreneurs
to pitch their ideas, build partn-
erships, secure funding, innovate,
and find their target customers
creating new goods and services
that will transform societies.

This year is the first time GES
will be hosted in South Asia, and
the event will highlight India's
enabling environment for
innovation and entrepreneurship.
GES 1is the preeminent annual
entrepreneurship gathering that
convenes emerging
entrepreneurs, investors and
supporters from around the
world.
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GES serves as a vital link betw-
een governments and the private
sector, and convenes global
participants to showcase projects,
exchange ideas, and champion
new opportunities for investment.
Relationships formed at past
GES Summits have transcended
industries and sectors and
transformed ideas into
enterprises.

What is the LAST sentence after
rearrangement?

HA 2)B 3)C

4D 5 F

What is the SECOND sentence
after rearrangement?
HA 2)B 3)C
4D S5 F

What i1s the THIRD
after rearrangement?
HhA 2)B 3)D
4HF S E

What i1s the FOURTH sentence
after rearrangement?

HA 2)B 3)C

49D 5E

What is the FIFTH sentence after
rearrangement?

HA 2)B 3)C

4)yD 5 F

KEY

4 2)1 3)3 42 53
6)3 74 83 94 10)4

sentence

13 12)1 13)2 14)5 15)5



